H & 0l & AHS B Ml A

20243 =0l ok LB S AIXH A 1t

A SAITHAE D
HEM: CAITHA
Celr SAITHY 2435t (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
AL TH24 10 13,193,715 20,895,670 AT,701,955
= 4,769,000
== 365,400
Al 7,389,315
= 700,000
CAITHY 13,085,078 20,782,957 NT7,697,879
= 4,769,000
= 365,400
Al 7,250,678
= 700,000
CANY 243t 8,956,478 16,282,957 6,326,479
= 4,469,000
[ 326,800
Al 4,160,678
CAITHE X2 486,297 600,490 A114,193
201 er2 3| 13,900 16,500 22,600
01 At2t2lt] 13,900 16,500 /2,600
OZAMY S2=23 M
6,500,000 *14] 6,500
OFANY stHetes S22 SR=
6,000,000 * 14 6,000
OEXZHAIAHE AXtZ
1,400,000 *14] 1,400
202 04l 5,160 6.720 21,560
01 =LHA LI 5,160 6,720 1,560
OZAIMY HRF204]
430,000« 12& 5,160
307 @20l & 321,237 327,270 26,033
03 PIZAHHEE 22X 321,237 327,270 26,033
OEAIMAEXZHEH =24
321,237,000 x14] 321,237
401 Al HIZL S 0HYI 146,000 250,000 104,000
01 Al&H| 146,000 250,000 104,000
Ot&2s TAIMY 2408 +8
146,000,000 *14] 146,000
SIES TAMMREAI(Le2eld) 861,314 3,400,000 N\2,538,686
307 el2to| & 319,314 394,800 INT5,486
05 2I2+RIE =S 319,314 394,800 AT5,486
O 24|
189,314,000 * 14! 189,314
O gZ oA 130,000,000 * 14! 130,000
401 Al HIZL 01| 542,000 3,005,200 A2,463,200
01 Al&H| 540,000 2,803,200 N\2,263,200
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Celr SAITHY 2435t (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OStE CAASAY
540,000,000 » 14 540,000
03 Al =2 0HHI 2,000 2,000 0
OAlI4 S THYI 2,000,000 %14 2,000
S4S TAMMEMS(FAXXZE) 160,000 4,641,667 N4,481,667
307 @I2t01 & 160,000 1,338,000 A1,178,000
05 2IR”IRIE = 160,000 1,338,000 A1,178,000
O XIJHE 24|
160,000,000 * 14! 160,000
SYS TAMERLAL(SHAIIIKE) 5,607,867 3,440,800 2,167,067
= 3,263,000
< 206,200
Al 2,138,667
307 elztol & 723,000 1,216,300 493,300
s 332,000
Al 391,000
05 2IMRIE =3 723,000 1,216,300 A\493,300
O XAHE 24|
327,000,000 14! 327,000
OSFXAHE At 396,000
> 201 2R SHALS
325,200,000 x14] 325,200
= 325,200
D FES2AISE 70,800,000 * 14 70,800
[ 6.800
Al 64,000
401 Al HIZL 01| 4,884,867 2,224,500 2,660,367
= 2,931,000
== 206,200
Al 1,747,667
01 Al&HI 4,184,867 2,224,500 1,960,367
OEYE CAMMRLAIL
4,184,867,0002 * 14 4,184,867
s 2,525,000
== 178,200
Al 1,481,667
02 2l 700,000 0 700,000
OZeltl 700,000,000& *14] 700,000
s 406,000
== 28,000
Al 266,000
FUS TANYREAL(Ler2ed)(221E &8F) 1,841,000 2,800,000 959,000
s 1,206,000
s 120,600




A SAITHAE D
S TCAITHA

Bl ZAITHY 2-35 EEREE)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 514,400
307 gl2tol & 635,000 636,000 21,000
=S 120,600
Al 514,400
05 git?(& = 635,000 636,000 21,000
O XIJHE 24| 280,000
DX HE 22|
250,000,000& x14] 250,000
= 120,600
Al 129,400
DAHEA 2SI 30,000,000 *14] 30,000
OSHEX2AHE AtEHI 365,000
DRI
315,000,000& x14] 315,000
DoAY 9 FRIBDA
40,000,000 *14] 40,000
401 Al HIZ S 0HYI 1,206,000 2,164,000 958,000
[ 1,206,000
01 Al&H| 1,206,000 2,159,000 953,000
OR4s SAIHMZE AL
1,206,000,000& » 14 1,206,000
[ 1,206,000
SO X N 3,000,000 5,500,000 22,500,000
=3 &4 3,000,000 5,500,000 22,500,000
401 AlEHIZ 2018 3,000,000 5,500,000 22,500,000
01 Al&H| 2,498,500 5,000,000 A2,501,500
O=H=sE =4
2,498,500,000& * 14 2,498,500
02 Zeltl 500,000 500,000 0
Ozl 500,000,000& *14] 500,000
03 A& CHYI 1,500 0 1,500
OAIZ 20l 1,500,000 *14] 1,500
CAIFSRS HE0H JHEAS 1,128,600 0 1,128,600
= 300,000
[ 38,600
Al 90,000
= 700,000
S22 7 ME0SALE 1,128,600 0 1,128,600
[ 300,000
= 38,600
Al 90,000
= 700,000
307 lztol & 94,571 0 94,571
= 44,571
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CHOl: TAIFIOHKI MEBOI HEA (Srol: 22)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 50,000
05 212t =S 94,571 0 94,571
OMEDtEXAHE 28|
50,000,000& *14! 50,000
OME0ISTIHES At
44,571,000 x14] 44,571
s 44,571
401 A2 HIRL R 0HHI 1,034,029 0 1,034,029
= 255,429
= 38,600
Al 40,000
= 700,000
01 Al&HI 1,032,029 0 1,032,029
OZMN T ME0IS A
1,032,029,000& » 14 1,032,029
= 255,429
& 38,600
Al 38,000
= 700,000
03 Al 20HHI 2,000 0 2,000
OAIZ20HbI 2,000,000& *14] 2,000
HRES(SAITHADL) 28,500 34,200 A5,700
SEXES(ZAITHAD) 28,500 34,200 A5,700
KIH A& (S AITHA D) 28,500 34,200 A5,700
311 XS0l Aratat 28,500 34,200 A5,700
03 SLEERLS0IAtatet 28,500 34,200 A5,700
Of4s TAIMA=E A
1,250,000& «12& 15,000
OS4ts TAIMA=E A
1,125,000& «12& 13,500
HY2SZHI(ZAIT D) 80,137 78,513 1,624
QIA2HHI (S AITHA D) 37,353 36,729 624
IA2HHI (T AIXHA D) 37,353 36,729 624
101 e124d| 37,353 36,729 624
01 2= 37,353 36,729 624
OAlIRAZ 25
11,3192 »112*300A1 2+ 37,353
J122HI(SAITHA D) 42,784 41,784 1,000
J|22HI(SAITHA D 42,784 41,784 1,000
201 fer23| 26,224 25,224 1,000
01 AtR2t2|HI 22,608 22,608 0
ORKN2E AtR2elt]
22,608,000 * 14! 22,608
02 s3=gbl 3,616 2,616 1,000
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A HYRAZHI(ZAIHALL)
Sl JI2FHI(SAIHA D (cte: M
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O=N=2Z B39
3,616,000& 14! 3,616
202 04dl 13,560 13,560
01 2L AL 13,560 13,560
OJl2g =80l 880,000 * 12 10,560
OZAINY HRFT 220
3,000,000& *14] 3,000
203 HR=H] 3,000 3,000
M EA2ER=A 3,000 3,000
O15& Olst 250,000 122 3,000




